R DRBE

TIAREE
20204£3 H 17 H

1 BM

| R DG & DORILHROWBE, 2 BEADGGDORILRDEZDOBIE, 3 FEAU LOLE DR O DMK
EZIT) .

2 (ERE

import sys

sys.path.append("statlib")

from xtest import prop_test

prop_test(x, n=None, p=None, alternative="two_sided", conflevel=0.95,

correct=True, verbose=True)}
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import sys
sys.path.append("statlib")
from xtest import prop_test

a = prop_test(3, 10)

l-sample proportions test with continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 0.9, df =1, p value = 0.34278

alternative hypothesis: true p is not equal to 0.5
95 percent confidence interval: [0.080948, 0.64633]

sample estimate = 0.3

a = prop_test(3, 10, alternative="less")

1-sample proportions test with continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 0.9, df =1, p value = 0.17139

alternative hypothesis: true p is less than 0.5

95 percent confidence interval: [0, 0.60435]

sample estimate = 0.3

a = prop_test(3, 10, alternative="greater")

l-sample proportions test with continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 0.9, df =1, p value = 0.82861

alternative hypothesis: true p is greater than 0.5
95 percent confidence interval: [0.096449, 1]

sample estimate = 0.3

a = prop_test(3, 10, correct=False)

1-sample proportions test without continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 1.6, df =1, p value = 0.20590

alternative hypothesis: true p is not equal to 0.5

95 percent confidence interval: [0.10779, 0.60322]



sample estimate = 0.3

a = prop_test(3, 10, alternative="less", correct=False)

l-sample proportions test without continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 1.6, df =1, p value = 0.10295

alternative hypothesis: true p is less than 0.5

95 percent confidence interval: [0, 0.5583]

sample estimate = 0.3

a = prop_test(3, 10, alternative="greater", correct=False)

1-sample proportions test without continuity correction
data: 3 out of 10, null probability = 0.5

chisq = 1.6, df =1, p value = 0.89705

alternative hypothesis: true p is greater than 0.5

95 percent confidence interval: [0.12688, 1]

sample estimate = 0.3

a = prop_test(3, 10, p=0.4)

l1-sample proportions test with continuity correction
data: 3 out of 10, null probability = 0.4

chisq = 0.10417, df =1, p value = 0.74689
alternative hypothesis: true p is not equal to 0.4
95 percent confidence interval: [0.080948, 0.64633]
sample estimate = 0.3

Chi-squared approximation may be incorrect

32 2FERDEBEE (LEDEDIRTE)

a = prop_test([3, 6], [10, 15])

2-sample test for equality of proportions with continuity correction
data: [3 6] out of [10 15]

chisq = 0.0072338, df =1, p value = 0.93222

alternative hypothesis: two_sided

95 percent confidence interval: [-0.56034, 0.36034]

sample estimates = 0.3, 0.4

Chi-squared approximation may be incorrect

a = prop_test([3, 6], [10, 15], correct=False)

2-sample test for equality of proportions without continuity correction
data: [3 6] out of [10 15]
chisq = 0.26042, df =1, p value = 0.60983



alternative hypothesis: two_sided
95 percent confidence interval: [-0.47701, 0.27701]
sample estimates = 0.3, 0.4

Chi-squared approximation may be incorrect

a = prop_test([3, 6], [10, 15], p=[0.5, 0.4])

2-sample test for equality of proportions with continuity correction
data: [3 6] out of [10 15]

chisq = 0.96944, df = 2, p value = 0.61587

alternative hypothesis: two_sided

null values = 0.5, 0.4

sample estimates = 0.3, 0.4

a = prop_test([3, 6], [10, 15], alternative="less")

2-sample test for equality of proportions with continuity correction
data: [3 6] out of [10 15]

chisq = 0.0072338, df =1, p value = 0.46611

alternative hypothesis: less

95 percent confidence interval: [-1, 0.29973]

sample estimates = 0.3, 0.4

Chi-squared approximation may be incorrect
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a = prop_test([3, 4, 6], [16, 15, 23])

3-sample test for equality of proportions with continuity correction
data: [3 4 6] out of [10 15 23]

chisq = 0.055958, df = 2, p value = 0.97241

alternative hypothesis: two_sided

sample estimates = 0.3, 0.26667, 0.26087

Chi-squared approximation may be incorrect
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a = prop_test([[3, 7], [4, 111, [6, 1711

3-sample test for equality of proportions with continuity correction
data: [3 4 6] out of [10 15 23]

chisq = 0.055958, df = 2, p value = 0.97241

alternative hypothesis: two_sided

sample estimates = 0.3, 0.26667, 0.26087

Chi-squared approximation may be incorrect



